height [solar radiil

.09

.5¢

.00

.50

.00

.50

.50

.00

.50

.00

SMM C/P 1989 DOY 29 @ degrees

h + velocity*time # data points =

Top of Faint Cavity
S=SMM M=MK3 P=PMON

SMM & MK3 - CORRECTED TIMES

Point not

in the fit

L A T I I O O B
U N N U AT T T A Y YO T U TN Y Y I A O O

DOY 29

tstart=D0OY 29

velocity=

4:.26 +/-
[km/sec ]
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This is a 1 order run
khkkhkkkkkkkkkhkkkhkkkkkikk

kkkkkkk

INPUT:

hhdhkkkk

error in error in

year doy time radii radius angle angle datatype

1989 29 4:21:34 2.20 —-———- 30.00 +/- ———- SMM THIS POINT WASN'T USE
1989 29 6:28:24 2.50 +/- 0.20 30.0 +/- 0.5 SMM

1989 29 8: 2:15 3.65 +/- 0.15 30.0 +/- 1.0 SMM

khkhkkhkkhkhkkhkkhkhkhkhhkhkkhkhkkhkkhkhkhhkkhkkkhkdhkk

Structure being measured:

Top of Faint Cavity
khkkkhkkhkhkkhkkkkhhkhkhhkkkhkkhkkhkkkkhhkhkkikkkkk

kkkkkkkk

OUTPUT:
Tkkkkkhk

START TIME:

Event began at t = 0 + 0.260E+02 +/- NaN [minutes]
In more convenient units:
Event began at DOY 29 4:26 +/- NaN [minutes]

Origin defined at DOY 29 4: 0
RADIAL: INFORMATION:
RADIAL VELOCITY =  142. +/- 0. km/sec

The computed RADIAL coefficients and errors FROM NLLST2 are:

c(l) = 0.682E+00 +/- 0.453E-19 [solar radii]
c(2) = 0.123E-01 +/- 0.212E-21 [radii/min]
c(2) = 0.142E+03 +/- 0.246E-17 [km/sec]

c(3) = 0.000E+00 +/- 0.000E+00 [radii/min**2]
c(3) = 0.000E+00 +/- 0.000E+00 [km/sec**2]

The computed ERRORS in coefficients [BEVINGTON] are:
error in c(l)= 0.13171E+01 [radii] see Bevington pg. 114
error in c(2)= 0.80074E-02 [radii/min] see Bevington pg. 114
ANGULAR INFORMATION:
ANGULAR VELOCITY = 0.0000E+00 +/- 0.0000E+00[radians/sec]

The computed ANGULAR coefficients and errors FROM NLLST2 are:

a(l) = 30. +/- 0. [degrees]

a(2) = 0.000E+00 +/- 0.000E+00 [degrees/min]
a(2) = 0.000E+00 +/- 0.000E+00 [rad/sec]

a(3) = 0.000E+00 +/- 0.000E+00 [degrees/min*+*2]
a(3) = 0.000E+00 +/- 0.000E+00 [rad/sec**2]

THE TANGENTIAL AND TOTAL VELOCITIES AT EACH DATA POINT ARE:

The TANGENTIAL velocity at 4:21 = 0.000E+00 km/sec
The TOTAL velocity at 4:21 = 142. km/sec

The TANGENTIAL velocity at 6:28 = 0.000E+00 km/sec
The TOTAL velocity at 6:28 = 142. km/sec




0.000E+00 km/sec

The TANGENTIAL Velocity at 8: 2 =
= 142. km/sec

The TOTAL velocity at 8: 2

**********************************************************

The following info is for estimating goodness of the fit
**********************************************************

Fit is ok [ier=1]

Standard Deviation in the height = 0.77
Standard Deviation in start time measurement = 0.904E+02
Error in time = 0.10235E+03 using best fit method

See Taylor Error Analysis [Univ of Colorado] pg.78

Value of reduced Chi Squared returned from nllst2 = 0.275E-39
Reduced Chi Squared = 0.157E+01

Chi Squared = 0.157E+01

The probability for exceeding chi square = 0.100E+01

The correlation coefficient = 0.916E+00
The probability that no LINEAR correlation exists between the variables = 0.2626]
SEE BEVINGTON "Data Reduction and Error Analysis" [1969]
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khkkkkhkhhkhkkhhkhkkkkhhkkhhkk

This is a 1 order run
hkhkkhkkkhkkhkhkhkhkhkhkkkkkkkxk

kkkkkkk

INPUT:

kkkkkkk

error in error in

year doy time radii radius angle angle datatype
1989 29 4:21:34 2.20 +/- 0.20 30.0 +/- 0.5 SMM
1989 29 6:28:24 2.50 +/- 0.20 30.0 +/- 0.5 SMM
1989 29 8: 2:15 3.65 +/- 0.15 30.0 +/- 1.0 SMM

khkkhkdkhkhkkkhkkhkhhhhkkkkhhhhkhkkhhhhkhkkkkkhkdx

Structure being measured:

Top of Faint Cavity
kkkhkkkkkhkkhkhkkhkhkhkkkhkhkhkhkhhkhkhkhkkhkhhhkkkkhkkk

kkkkkkkk

OUTPUT:
khkkk KKKk

START TIME:

Event began at t = 0 + -0.132E+03 +/- 0.223E+02 [minutes]

In more convenient units:

Event began at DOY 29 1:50 +/- 0.223E+02 [minutes]
Origin defined at DOY 29 4: 0

RADIAL INFORMATION:

RADIAL VELOCITY = 78. +/- 21. km/sec

The computed RADIAL coefficients and errors FROM NLLST2 are:

0.334E+00

c(1l) = 0.189E+01 +/-

c(2) = 0.675E-02 +/- 0.182E-02
c(2) = 0.783E+02 +/- 0.211E+02
c(3) = 0.000E+00 +/- 0.000E+00
c(3) = 0.000E+00 +/- 0.000E+00

The computed ERRORS

error in c(1)
error in c(2)
ANGULAR INFORMATION:

ANGULAR VELOCITY = 0.0000E+00 +/-

[solar radii]
[radii/min]
[km/sec]
[radii/min**2]
[km/sec**2]

in coefficients [BEVINGTON] are:

= 0.46468E+00 [radiil] see Bevington pg. 114
= 0.28249E-02 [radii/min] see Bevington pg. 114

0.0000E+00[radians/sec]

The computed ANGULAR coefficients and errors FROM NLLST2 are:

a(l)y = 30. +/- 0. [degrees]

a(2) = 0.000E+00 +/- 0.000E+00
a(2) = 0.000E+00 +/- 0.000E+00
a(3) = 0.000E+00 +/- 0.000E+00
a(3) = 0.000E+00 +/- 0.000E+00
THE

The TANGENTIAL velocity at 4:21 =

The TOTAL velocity at 4:21 = 78.
The TANGENTIAL velocity at 6:28 =
The TOTAL velocity at 6:28 = 78.

[degrees/min]
[rad/sec]
[degrees/min**2]
[rad/sec**2]

TANGENTIAL AND TOTAL VELOCITIES AT EACH DATA POINT ARE:
0.000E+00 km/sec
km/sec

0.000E+00 km/sec
km/sec




The TANGENTIAL velocity at 8: 2 = 0.000E+00 km/sec
The TOTAL velocity at 8: 2 = 78. km/sec

khkkhkkhhkkhkhkkhhkkkhhkkhhkhhkhkkhkhhkkhhkhhkhhkhkhkkhhkhhhkhkhhhhkhkks

The following info is for estimating goodness of the fit
khkkhkkhkkkhkkhkhkhhkkhhkkhkhkhkhkhhhhkhhhkhkhkhhhkkhhkhkhhkkhkhkhkhhkhkhkkhkkhkkkhkhi®

Fit is ok [ier=1]

Standard Deviation in the height = 0.77
Standard Deviation in start time measurement = 0.904E+02
Error in time = 0.65541E+02 using best fit method

See Taylor Error Analysis [Univ of Colorado] pg.78

Value of reduced Chi Squared returned from nllst2 = 0.826E-01
Reduced Chi Squared = 0.380E+00

Chi Squared = 0.380E+00

The probability for exceeding chi square = 0.774E+00

The correlation coefficient = 0.916E+00
The probability that no LINEAR correlation exists between the variables = 0.2626]
SEE BEVINGTON "Data Reduction and Error Analysis" [1969]
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This is a 2 order run
khkhkkhkkkkhkhkhkhkkkkhkhkkkkkk

hkkkkkkk

INPUT:

kkkkkkk

error in error in

year doy time radii radius angle angle datatype
1989 29 4:21:34 2.20 +/- 0.20 30.0 +/- 0.5 SMM
1989 29 6:28:24 2.50 +/- 0.20 30.0 +/- 0.5 SMM
1989 29 8: 2:15 3.65 +/- 0.15 30.0 +/- 1.0 SMM

khkhkkhkhkkhkhhkhhkhkhhkhkhkkhkkkkkkhkkhhkkkhkkkkkkkkk

Structure being measured:

Top of Faint Cavity
khkkkkkkkhkhkkkhkhkhkkkhkkkhkkhkhkkhkkhkkkkhhkkkkkk

khkkkkkkk

OUTPUT:
Kkokkdokokk

START TIME:

tstart=DOY 29 4:58 from derivative = 0

Event begins at 2.14 Solar Radii

Origin defined at DOY 29 4: 0

RADIAL: INFORMATION:

RADIAI, ACCELERATION = 0.173E-01 +/- 0.419E-07 km/sec**2

The computed RADIAL coefficients and errors FROM NLLST2 are:

c(l) = 0.229E+01 +/- 0.150E-05 [solar radii]
c(2) = -0.525E-02 +/- 0.297E-07 [radii/min]
c(2) = ~-0.609E+02 +/- 0.344E-03 [km/sec]

c(3) = 0.448E-04 +/- 0.108E-09 [radii/min**2]
c(3) = 0.173E-01 +/- 0.419E-07 [km/sec**2]

ANGULAR INFORMATION:
ANGULAR ACCELERATION= 0.0000E+00 +/- 0.0000E+00[radians/sec**2]

The computed ANGULAR coefficients and errors FROM NLLST2 are:

a(l) = 30. +/- 0. [degrees]

a(z2) = 0.000E+00 +/- 0.000E+00 [degrees/min]
a(2) = 0.000E+00 +/- 0.000E+00 [rad/sec]

a(3) = 0.000E+00 +/- 0.000E+00 [degrees/min**2]
a(3) = 0.000E+00 +/- 0.000E+00 [rad/sec**2]

THE TANGENTIAL AND TOTAL VELOCITIES AT EACH DATA POINT ARE:

The TANGENTIAL velocity at 4:21 = 0.000E+00 km/sec
The TOTAL velocity at 4:21 = -38. km/sec
The TANGENTIAL velocity at 6:28 = 0,000E+00 km/sec
The TOTAL velocity at 6:28 = 93. km/sec
The TANGENTIAL velocity at 8: 2 = 0.000E+00 km/sec
The TOTAL velocity at 8: 2 = 191. km/sec

khkkkdkkdkkhkkkkkkhkkhkhhhkdhkkkhkhhhhkkkkhkhhhhhkkkkhhhhkkkkkhhkkkkx



The following info is for estimating goodness of the fit
khkkhdhhkdkhkhkhhkhkkkhkhhhhkkhhhhkhkhkhkkhhhhhkhkkkhkhhhkhkkkhhkhkhhkhkkkkkkhkksd

Number data points = number of coefficients. No error analysis is possible.

Correlation coefficient is not computable!




SMM C/P 1989 DOY 29 2 +/- @ degrees

height = h + velocityXtime # data points = 2
6.00 T T T T T T T T 7 T T T T

T L
Top of Fuzzy Cavity (Lm#ﬂb% %ﬂ*>

S=SMM M=MK3 P=PMON

SMM & MK3 - CORRECTED TIMES

[ I S T N O N B B A A B A

height [solar radiil]

LI N

ter v oy v e vy b e e by bl

1.00 ! ] L1 | | | 1 ! 1 1 | I T ! L1 | 1 I ] 1 !

9:00 9:39 10:00 12:30 11:00
Doy 29 '

tstart=D0OY 29 7:32 +/- 2.9 [min.]
radial velocity= 174. +/- @. [km/sec]




AN
.
G
o
~

mm——
",

bl A TR

. JRET and CPTICHL D4R TOGETHER BEGIN: 29 J 89
F : ]
r - 1. &
04— : X o
: E : =
. 5{. i ~
L — . C
y = F g : \ S g
o A - o &
- R un
. - | o
- ! - &
1085~ y B

29/9633 ' 299389 23-1263
SAA’s
L ] L] R - L ] N I W

GOES-7 1 MIN DATA; OPTICAL FLARE DUR, IMP, REGION - ; RUNEERRVT

- .
r
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This is a 1 order run
she s shosk ok sk ok sk ok ok o sk sk sk sk ok sk sk skok

ok sk skokok

INPUT:

keokskskokoskok

error in error in
year doy time radii radius angle angle datatype
1989 29 9:18:45 2.60 +/- 0.25 20+/- 05 SMM
1989 29 10:52:18 4.00 +/- 0.30 20+/- 05 SMM

kst sfeoskok sheoskesk skskook skokok ok ok ok ok sk ok sk skok o sk sk sk skok ok ok okok ok

Structure being measured:
Top of Fuzzy Cavity

ek sk sk ke sk ke stk sk sk sk sk skeok sk ke sk sk sk ok sk ok sk sk sk ok sk sk ok sk sk ok ok ok ok ok skok
ookskskosk skok

OUTPUT:

seokskeskokskok sk

START TIME:

Event began at t = 0 + -0.882E+02 +/- 0.000E+00 [minutes]

In more convenient units:

Event began at DOY 29 7:32 +/- 0.000E+00 [minutes]

Origin defined at DOY 29 9: 0

RADIAL INFORMATION:

RADIAL VELOCITY = 174. +/- 0. km/sec

The computed RADIAL coefficients and errors FROM NLLST? are:
c(1) = 0.232E+01 +/- 0.269E-06 [solar radii]

¢(2) = 0.150E-01 +/- 0.366E-08 [radii/min]

¢(2) = 0.174E+03 +/- 0.425E-04 [km/sec]

¢(3) = 0.000E+00 +/- 0.000E+00 [radii/min**2]

c(3) = 0.000E+00 +/- 0.000E+00 [km/sec**2]
ANGULAR INFORMATION:
ANGULAR VELOCITY = 0.0000E+00 +/- 0.0000E+00[radians/sec]
The computed ANGULAR coefficients and errors FROM NLLST? are:
a(l)= 2. +/- 0. [degrees]

a(2) = 0.000E+00 +/-  0.000E+00 [degrees/min]

a@2) = 0.000E+00 +/-  0.000E+00 [rad/sec]

a(3) = 0.000E+00 +/- 0.000E+00 [degrees/min**2]
a@3) = 0.000E+00 +/-  0.000E+00 [rad/sec**2]




THE TANGENTIAL AND TOTAL VELOCITIES AT EACH DATA POINT ARE:
The TANGENTIAL velocity at 9:18 = 0. km/sec
The TOTAL velocity at 9:18 = 174. km/sec

The TANGENTIAL velocity at 10:52 = 0. km/sec
The TOTAL velocity at 10:52 = 174. km/sec

heobeokok e sk sk sk ks sk ok sk ok skok ok sk sk sk ek ke ke o sk shosk sk sk sk sk ke sk ke ok ok ok shok sk sk sk sk sk sk sk sk ok ok ok o ok ok sk skok

The following info is for estimating goodness of the fit
**********************************************************

Number data points = number of coefficients. No error analysis is possible.

Correlation coefficient is not computable!




